
SUGGESTED PARTS LIST

Product Line: CHEFTOP MIND.Maps™ PLUS BIG

Product Code: XAVL-2021-DPRS
Document creation date: 08/18/2025

If several alternatives are available for the purchase of the same component, it is recommended to check compatibility with the oven model or accessory in question by carefully checking the kit
description in column 3. If you have any doubts, you can use the site chat or write to info@unox.com

Code Description Content Price

KCE1054A MM L150 CONTROL USB CONNECTION CABLE KIT CONTROL BOARD-USB CONNECTING CABLE L=150 (1 PZ), 66,00 $

KCE1097A POWER-CONTROL 4POLES 4M BUS CABLE KIT 4M SIHF 4 POLES MICROFIT CANBUS (1 PZ), EMI ROUND FERRITE
MOD.2643801502 (2 PZ), 105,00 $

KCN1003A 6,3 uF MOTOR CAPACITOR KIT 6,3 Uf MOTOR CAPACITOR (1 PZ), M8x1.65 H4 CH13 ZINC PLATED
NUT (1 PZ), D8 INDENTED ZINC PLATED WASHER (1 PZ), 53,00 $

KEL1422A 1 WAY JG D8-D10 WATER SOLENOID VALVE KIT 1 WAY SOLENOID VALVE + D8-D10 REDUCTION (1 PZ), 130,00 $

KEL1443A 67+67 BB 6 UL DUAL SOLENOID VALVE KIT EL1443A1 (1 PZ), 170,00 $

KEL1450A USA WATER SELF CLEANING VALVE KIT US SELF-CLEANING WATER SOLENOID (1 PZ), INT. D.=6.9 TH=1.8 O-
RING (2 PZ), 200x2.6 BLACK CLAMP (1 PZ), 170,00 $

KGN1569A GAS TORCH SEALINGS KIT

PREMIX BLOWER-SUPPORT GASKET (2 PZ), GAS PIPE 1"GAS FITTING
ALLUMINIUM WASHER (4 PZ), PREMIX START-UP PLUG GASKET (6
PZ), "3/4"" GAS PIPE ALLUMINIUM WASHER" (4 PZ), TORCH-CHAMBER
SEALING (2 PZ), O-RING NBR 2087 21,95x1,78 (2 PZ), TORCH LOWER
SEALING (2 PZ), STAINLESS STEEL WASHER D=6 6592 (6 PZ),

130,00 $

KGN1673A BIG-L DOOR GASKET KIT GN1613A-XEBL/XEVL DOOR GASKET 4360MM (1 PZ), GN1613
GASKET JUNCTION PLUG (1 PZ), 333,00 $

KGN1678A BIG-L TROLLEY-DOOR GASKET KIT XEVL BIG DOOR-TROLLEY SINGLE GASKET SET (1 PZ), STAINLESS
STEEL NUT M5 H=5 CH=8 (5 PZ), ST STEEL WASHER M5X15 (5 PZ), 561,00 $

KLP1023A L800 E1199 LED LIGHT BAR KIT E1199 L1000 LED BAR KIT (1 PZ), 523,00 $

KMG1095A BIG-L PUSH-TO-CLOSE RIGHT HANDLE KIT ASM PUSH-TO-CLOSE HANDLE BIG DX (1 PZ), 385,00 $

KMG1097A BIG-L PUSH-TO-CLOSE LATCH KIT BIG-L PUSH-TO-CLOSE LATCH (1 PZ), M5X30 TCEI ST.STEEL DIN 912
SCREW (6 PZ), 173,00 $

KMT1012A LUX >08.2017 / MIND.MAPS 330W MOTOR KIT

MT1012 CENTERING JIG (1 PZ), XEVL MOTOR SHAFT DISC (1 PZ),
MOLDED MOTOR HOLDER GASKET (1 PZ), 330W 230V MOTOR (1 PZ),
SCREW M6x12 TE INOX (1 PZ), STAINLESS STEEL WASHER D=6 6592
(1 PZ), M4x14 FLATHEAD SCREW (1 PZ), MAGNET SET FOR MOTOR
REVOLUTIONS SENSOR (1 PZ),

510,00 $

KMT1015A SP 230V 50-60HZ 28W UL FAN MOTOR KIT SP 230V 50-60HZ 28W UL CENTRIFUGAL FAN (1 PZ), 256,00 $

KMT1029A 3300RPM 400W 200-240V 3PH MOTOR KIT

ST MOTOR CENTRING JIG (1 PZ), MOTOR SHAFT CHOKE EMI GASKET
(1 PZ), XEVL MOTOR SHAFT DISC (1 PZ), MOLDED MOTOR HOLDER
GASKET (1 PZ), 3300RPM 220-240V 400W 3PH MOTOR (1 PZ), SCREW
M6x12 TE INOX (1 PZ), STAINLESS STEEL WASHER D=6 6592 (1 PZ),
M4x14 FLATHEAD SCREW (1 PZ), MAGNET SET FOR MOTOR
REVOLUTIONS SENSOR (1 PZ),

612,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 1/6

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KMT1036A SPX .0 .1 200-240V 3PH MOTOR KIT

ST MOTOR CENTRING JIG (1 PZ), MOTOR SHAFT CHOKE EMI GASKET
(1 PZ), XEVL MOTOR SHAFT DISC (1 PZ), 2 WAYS FEMALE INAR-LOCK
CONNECTOR (1 PZ), FEMALE INAR-LOCK END CONNECTOR (2 PZ), 2
WAYS MALE INAR-LOCK CONNECTOR (1 PZ), INAR-LOCK MALE
TERMINAL (2 PZ), MOLDED MOTOR HOLDER GASKET (1 PZ),
3300RPM 220-240V 400W 3PH MOTOR (1 PZ), SCREW M6x12 TE INOX
(1 PZ), STAINLESS STEEL WASHER D=6 6592 (1 PZ), M4x14
FLATHEAD SCREW (1 PZ), MAGNET SET FOR MOTOR REVOLUTIONS
SENSOR (1 PZ),

664,00 $

KPD1011A OVEN ADJUSTABLE FOOT KIT
TB 50 LEFT THREADED FOOT SUPPORT (1 PZ), TB 50 RIGHT
THREADED FOOT SUPPORT (1 PZ), THREADED FOOT FOR TB50 (1
PZ),

61,00 $

KPE1039A 220-240V EMC TWO-PHASE FILTER CARD KIT 220-240V TWO-PHASE EMC FILTER CARD (1 PZ), MM 230x450 PINK
ESD AIRBALL BAG (0 PZ), 74,00 $

KPE1059A MM USB-RESET SUPPORT KIT USB-RESET MM ASSEMBLY SUPPORT (1 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (2 PZ), MM 230x450 PINK ESD AIRBALL BAG (0 PZ), 144,00 $

KPE1062B MM BIG PLUS CAPACITIVE CONTROL BOARD KIT

4PM-MINIFIT 4PF 100mm MICROFIT CABLE (1 PZ), MM PLUS BIG
CAPACITIVE CONTROL PANEL (1 PZ), 4X16 SCREW FOR PLASTIC (2
PZ), 40X12 TBSP SCREW FOR PLASTIC (2 PZ), MM 230x450 PINK ESD
AIRBALL BAG (1 PZ), BIG-L DOOR CONTROL BOARD SUPPPORT (1 PZ),
70 MM BIG-L DOOR CONTROL SUPPORT (1 PZ), MM CONTROL BOARD
RETROFIT FRAME (1 PZ),

1628,00 $

KPE1710B MOTOR REVOLUTIONS SENSOR KIT

AMPMODU2 4P 4XAWG22 L1500 RAST 4P CABLE (1 PZ), RAST
MOTOR SENSOR (1 PZ), M4x14 FLATHEAD SCREW (1 PZ), MM
230x450 PINK ESD AIRBALL BAG (0 PZ), MAGNET SET FOR MOTOR
REVOLUTIONS SENSOR (1 PZ),

92,00 $

KPE2038A MND.MAPS PLUS POWER BOARD KIT MIND.Maps PLUS POWER BOARD (1 PZ), TCB M4x6 SCREW (12 PZ),
MM 230x450 PINK ESD AIRBALL BAG (1 PZ), CARD SUPPORT (12 PZ), 1017,00 $

KPE2142A PT1000 PROBE JUNCTION CARD KIT

CORE PROBE BOX COVER (1 PZ), 4P PROBE JUNCTION CARD (1 PZ),
4X16 SCREW FOR PLASTIC (1 PZ), 4,2x12 TCB SELF-TAPPING SCREW
(2 PZ), CORE PROBE TRANSFER BOARD BOX (1 PZ), MM 230x450
PINK ESD AIRBALL BAG (1 PZ),

157,00 $

KRS1034A MM 147W MOTOR BRAKING ELEMENT KIT
BREAKING ELEMENT GASKET (1 PZ), 147W 105V 1 TURN FLAT
ELEMENT (1 PZ), S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ),
4,2x12 TCB SELF-TAPPING SCREW (2 PZ),

170,00 $

KRS1036A MM GAS 100W MOTOR BRAKING ELEMENT KIT
BREAKING ELEMENT GASKET (1 PZ), 100W 60V 1 TURN FLAT
ELEMENT (1 PZ), S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ),
4,2x12 TCB SELF-TAPPING SCREW (2 PZ),

157,00 $

KSB1016A DETERGENT TANK 3L KIT 3L COMPLETE DET. TANK + SEAL BREAKER (1 PZ), 256,00 $

KSN1020B US MULTIPOINT L2050 CORE PROBE KIT

XEVL CORE PROBE PASS-THROUGH COVER (1 PZ), UL SILICONE
GLASS FIBER SHEATH (0 M), MRT8 P3,81 5 POLES FEMALE TERMINAL
(1 PZ), CORE PROBE INLET GASKET (1 PZ), 130x2,6 CLAMP (2 PZ),
S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ), L2050 STR
MULTI.POINT CORE PROBE W/O NUT (1 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (3 PZ),

612,00 $

KSN1022A L2000 BENT PT100 CHAMBER TEMPERATURE KIT

BIG OVENS CHAMBER PROBE PLATE (1 PZ), 130x2,6 CLAMP (2 PZ),
S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ), L2000 BENT PT100
CHAMBER TEMPERATURE (1 PZ), 4,2x12 TCB SELF-TAPPING SCREW
(2 PZ),

209,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 2/6

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KSN1049B MULTIPOINT CORE PROBE KIT L3200

XEVL CORE PROBE PASS-THROUGH COVER (1 PZ), CORE PROBE
INLET GASKET (1 PZ), S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ),
L3200 STRAIGHT MULTI.POINT CORE PROBE (1 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (3 PZ),

639,00 $

KTR1136A 318°C -0/+24 SAFETY THERMOSTAT KIT

XEVL BULB PASS-THROUGH COVER (1 PZ), THERMOSTAT BULB INLET
SEALING (1 PZ), S57 BLACK SILICONE - 80ml CARTRIDGE (1 PZ), 318°C
-0/+24 1 POLE SAFETY THERMOSTAT (1 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (3 PZ),

157,00 $

KVE1020B MICROSWITCH KIT

FEMALE FASTON COVER 6.3X0.8 0,5-1mmq (2 PZ), 6,3x0,8 FEMALE
FASTON COVER (2 PZ), PVC CABLE NP 2 X AWG22 STYLE 2095 (0 M),
MINIFIT MALE END FITTING (2 PZ), 2 WAYS FEMALE MINIFIT
CONNECTOR (1 PZ), MAGNET DOOR MICROSWITCH (1 PZ), MAGNET
FOR DOOR MICROSWITCH D=22,9mm (1 PZ), VI1192A0 (1 PZ),

71,00 $

KVE1026A 230-21-12vac 90VA TRANSFORMER KIT 230-21-12Vac 80VA TRANSFORMER (1 PZ), ST. STEEL 4,2X13 TCB
SELF-DRILLING SCREW (4 PZ), 182,00 $

KVL0014B MIND.MAPS 2017-2018 PRESSURE REDUCER KIT
Ø10M-1/4 M CIL. STRAIGHT FITTING (1 PZ), JG D10-1/4 STRAIGHT
END FITTING (1 PZ), VL1014B3 (1 PZ), H7.8 PRESSURE REDUCER RING
NUT (1 PZ),

160,00 $

KVL0020A 03-05XX≥OCT18/MM-LUX≥MAR19/SPX REDUCER JG D10-1/4 STRAIGHT END FITTING (2 PZ), VL1014B3 (1 PZ), H7.8
PRESSURE REDUCER RING NUT (1 PZ), 173,00 $

KVL0022A DETERGENT FILTER WITH VL1102 NRV KIT
D=10 ELASTIC CLAMP (3 PZ), 6X10 EPDM PIPE FOR WASHING
SYSTEM (0 M), 6X10 EPDM PIPE FOR WASHING SYSTEM (0 M), 6 MM
BARBED NRV LINING FILTER (1 PZ),

41,00 $

KVL0683A >12/2019 1 ROTOR ARM PLUS WASH PUMP KIT

CLIP LOCK TWEEZER FITTINGS D10 (2 PZ), INT. D.=6.9 TH=1.8 O-RING
(1 PZ), INT. D.=6.9 TH=1.8 O-RING (2 PZ), D=10 ELASTIC CLAMP (4 PZ),
130x2,6 CLAMP (1 PZ), 200x2.6 BLACK CLAMP (2 PZ), JG D=10
CLOSED CAP (2 PZ), EPDM 6X10 L=40MM PIPE (3 PZ), VIBRATION
DETERGENT PUMP (1 PZ), VL1128A2 (1 PZ), D1.2 MM CALIBRATED
NOZZLE (1 PZ), 2 WAYS PLUS WASHING DISTRIBUTOR (1 PZ), PLUS
WASHING SYSTEM INLET DISTRIBUTOR (1 PZ), LOCKING CLIP FOR
PUMP WITH CIRCUIT (1 PZ),

199,00 $

KVL1096A MIND.Maps T-SHAPED FITTING+2 MAGNETS KIT D11.5-12.5 SINGLE EAR HOSE CLAMP (5 PZ), T- CONNECTION WITH
MAGNETS (1 PZ), 53,00 $

KVL1128A D6 VNR BARBED VALVE KIT D=10 ELASTIC CLAMP (4 PZ), 6X10 EPDM PIPE FOR WASHING
SYSTEM (0 M), VL1128A2 (1 PZ), 49,00 $

KVL1135A 3/4-JG10 FITTING WITH FILTER AND VNR KIT 10 - 10 JG ELBOW FITTING (1 PZ), 3/4-JG10 CONNECTOR + FILTER
AND NRV (1 PZ), 92,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 3/6

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KVL1183A 1 ROTOR ARM PLUS CLEANING SYSTEM KIT

0H2354A3 (1 PZ), JG STRAIGHT CONNECTION Ø8F-Ø8F (1 PZ), CLIP
TO FIX Ø8 mm CONNECTION JOINT (2 PZ), CLIP LOCK TWEEZER
FITTINGS D10 (2 PZ), WATER SELF CLEANING VALVE (3 PZ), INT.
D.=6.9 TH=1.8 O-RING (7 PZ), ZINC PLATED D12 ELASTIC CLAMP (1
PZ), D=10 ELASTIC CLAMP (12 PZ), 130x2,6 CLAMP (1 PZ), 200x2.6
BLACK CLAMP (2 PZ), JG D=10 CLOSED CAP (2 PZ), D11.5-12.5
SINGLE EAR HOSE CLAMP (4 PZ), D11.5-12.5 SINGLE EAR HOSE
CLAMP (1 PZ), EPDM 6X10 L=40MM PIPE (4 PZ), TB2820A L=550mm
EPDM BLACK PIPE (1 PZ), TB3252A0 (1 PZ), TB3614A0 (1 PZ),
TB3132A-TUBO EPDM TELATO BIANCO-BLU 550M (1 PZ), TB3132A-
TUBO EPDM TELATO BIANCO-BLU 230M (1 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (1 PZ), VIBRATION DETERGENT PUMP (1 PZ), D6
PIPE HOLDER - D8 J.G. TERMINAL (1 PZ), 6 MM BARBED NRV LINING
FILTER (1 PZ), VL1128A2 (1 PZ), BB6-AR6 L FITTING (3 PZ), D1.2 MM
CALIBRATED NOZZLE (1 PZ), 2 WAYS PLUS WASHING DISTRIBUTOR
(1 PZ), PLUS WASHING SYSTEM INLET DISTRIBUTOR (1 PZ),
VL1214A1 (1 PZ), PRESSURE CONTROLLER N.O. 1/4 M CIL (1 PZ), CLIP
TWIST LOCK DIAM. 10,2-12,7 MM (3 PZ), TWIST LOCK D17.8-20.3 CLIP
(2 PZ), LOCKING CLIP FOR PUMP WITH CIRCUIT (4 PZ),

707,00 $

KVL1207A US PLUS 1 ROTOR ARM WASHING SYSTEM KIT

PLUS XEVC-XEVL METAL SHEET WASHING SYST (1 PZ), CLIP LOCK
TWEEZER FITTINGS D10 (2 PZ), US SELF-CLEANING WATER
SOLENOID (3 PZ), INT. D.=6.9 TH=1.8 O-RING (7 PZ), ZINC PLATED D12
ELASTIC CLAMP (1 PZ), D=10 ELASTIC CLAMP (12 PZ), 130x2,6
CLAMP (1 PZ), 200x2.6 BLACK CLAMP (2 PZ), JG D=10 CLOSED CAP
(2 PZ), "STRAIGHT THREADED FEMALE END 8x1/4"" BS (1 PZ), D11.5-
12.5 SINGLE EAR HOSE CLAMP (5 PZ), D11.5-12.5 SINGLE EAR HOSE
CLAMP (4 PZ), EPDM 6X10 L=40MM PIPE (4 PZ), TB2820A L=550mm
EPDM BLACK PIPE (1 PZ), TB3132A L=550mm EPDM WHITE-BLUE
PIPE (2 PZ), TB3024C0 (1 PZ), TB2820A-TANK-WASHYNG SYS
CONNECTION (1 PZ), TB3252A0 (1 PZ), TB3614A0 (1 PZ), 4,2x12 TCB
SELF-TAPPING SCREW (1 PZ), VIBRATION DETERGENT PUMP (1 PZ),
D6 PIPE HOLDER - D8 J.G. TERMINAL (1 PZ), 6 MM BARBED NRV
LINING FILTER (1 PZ), 6mm BARBED T-SHAPED FITTING (1 PZ),
VL1128A2 (1 PZ), BB6-AR6 L FITTING (3 PZ), D1.2 MM CALIBRATED
NOZZLE (1 PZ), 2 WAYS PLUS WASHING DISTRIBUTOR (1 PZ), PLUS
WASHING SYSTEM INLET DISTRIBUTOR (1 PZ), VL1214A1 (1 PZ), 1/4
M N.O. CIL PRESSURE SWITCH (1 PZ), CLIP TWIST LOCK DIAM. 10,2-
12,7 MM (3 PZ), TWIST LOCK D17.8-20.3 CLIP (2 PZ), LOCKING CLIP
FOR PUMP WITH CIRCUIT (4 PZ),

681,00 $

KVL1208A US PLUS 2 ROTOR ARMS WASHING SYSTEM KIT

PLUS XEVC-XEVL METAL SHEET WASHING SYST (1 PZ), CLIP LOCK
TWEEZER FITTINGS D10 (2 PZ), US SELF-CLEANING WATER
SOLENOID (4 PZ), INT. D.=6.9 TH=1.8 O-RING (9 PZ), ZINC PLATED D12
ELASTIC CLAMP (3 PZ), D=10 ELASTIC CLAMP (2 PZ), D=10 ELASTIC
CLAMP (14 PZ), 130x2,6 CLAMP (1 PZ), 200x2.6 BLACK CLAMP (3 PZ),
JG D=10 CLOSED CAP (2 PZ), "STRAIGHT THREADED FEMALE END
8x1/4"" BS (1 PZ), D11.5-12.5 SINGLE EAR HOSE CLAMP (4 PZ), EPDM
6X10 L=40MM PIPE (6 PZ), HOOD DETERGENT PIPE (1 PZ), TB2820A
L=550mm EPDM BLACK PIPE (2 PZ), TB2820A L=550mm EPDM
BLACK PIPE (1 PZ), TB3132A L=550mm EPDM WHITE-BLUE PIPE (1
PZ), TB3132A L=1050mm EPDM WHITE-BLUE PIPE (1 PZ), VIBRATION
DETERGENT PUMP (1 PZ), D6 PIPE HOLDER - D8 J.G. TERMINAL (1
PZ), 6 MM BARBED NRV LINING FILTER (1 PZ), VL1128A2 (2 PZ), BB6-
BB6 STRAIGHT CONNECTION (1 PZ), BB6-AR6 L FITTING (4 PZ), D1.2
MM CALIBRATED NOZZLE (1 PZ), 3 WAYS PLUS WASHING
DISTRIBUTOR (1 PZ), PLUS WASHING SYSTEM INLET DISTRIBUTOR (1
PZ), VL1214A1 (1 PZ), 1/4 M N.O. CIL PRESSURE SWITCH (1 PZ), CLIP
TWIST LOCK DIAM. 10,2-12,7 MM (3 PZ), CLIP TWIST LOCK DIAM. 10,2-
12,7 MM (3 PZ), LOCKING CLIP FOR PUMP WITH CIRCUIT (5 PZ),

763,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 4/6

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KVL1209A US PLUS 3 ROTOR ARMS WASHING SYSTEM KIT

PLUS XEVC-XEVL METAL SHEET WASHING SYST (1 PZ), CLIP LOCK
TWEEZER FITTINGS D10 (2 PZ), US SELF-CLEANING WATER
SOLENOID (4 PZ), INT. D.=6.9 TH=1.8 O-RING (9 PZ), ZINC PLATED D12
ELASTIC CLAMP (11 PZ), D=10 ELASTIC CLAMP (14 PZ), 130x2,6
CLAMP (1 PZ), 200x2.6 BLACK CLAMP (3 PZ), JG D=10 CLOSED CAP
(2 PZ), "STRAIGHT THREADED FEMALE END 8x1/4"" BS (1 PZ), D11.5-
12.5 SINGLE EAR HOSE CLAMP (4 PZ), D11.5-12.5 SINGLE EAR HOSE
CLAMP (1 PZ), TB2652A0 (1 PZ), TB2677A0 (1 PZ), EPDM 6X10
L=40MM PIPE (4 PZ), TB2820A L=550mm EPDM BLACK PIPE (2 PZ),
TB3024C0 (3 PZ), TB3226A0 (1 PZ), TB3132A L=1050mm EPDM
WHITE-BLUE PIPE (1 PZ), TB3614A0 (1 PZ), 4,2x12 TCB SELF-TAPPING
SCREW (1 PZ), VIBRATION DETERGENT PUMP (1 PZ), 6 MM BARBED
NRV LINING FILTER (1 PZ), 6mm BARBED T-SHAPED FITTING (2 PZ),
VL1128A2 (2 PZ), BB6-AR6 L FITTING (4 PZ), GN21 3 ROTOR ARMS B-
B FLOW RESTRICTOR (1 PZ), D1.2 MM CALIBRATED NOZZLE (1 PZ), 3
WAYS PLUS WASHING DISTRIBUTOR (1 PZ), PLUS WASHING SYSTEM
INLET DISTRIBUTOR (1 PZ), VL1214A1 (1 PZ), 1/4 M N.O. CIL
PRESSURE SWITCH (1 PZ), CLIP TWIST LOCK DIAM. 10,2-12,7 MM (3
PZ), TWIST LOCK D17.8-20.3 CLIP (3 PZ), LOCKING CLIP FOR PUMP
WITH CIRCUIT (5 PZ),

866,00 $

KVL1213A US PLUS COMPACT WASHING SYSTEM KIT

0H2428A3 (1 PZ), CLIP LOCK TWEEZER FITTINGS D10 (2 PZ), US
SELF-CLEANING WATER SOLENOID (3 PZ), RUBBER CABLE-PASSING
De=25 Di=12 Th=6,5 (1 PZ), INT. D.=6.9 TH=1.8 O-RING (7 PZ), ZINC
PLATED D12 ELASTIC CLAMP (5 PZ), D=10 ELASTIC CLAMP (14 PZ),
130x2,6 CLAMP (1 PZ), 200x2.6 BLACK CLAMP (1 PZ), JG D=10
CLOSED CAP (2 PZ), "STRAIGHT THREADED FEMALE END 8x1/4"" BS
(1 PZ), D11.5-12.5 SINGLE EAR HOSE CLAMP (4 PZ), EPDM 6X10
L=40MM PIPE (6 PZ), TB2820A L=550mm EPDM BLACK PIPE (2 PZ),
TB3132A L=550mm EPDM WHITE-BLUE PIPE (1 PZ), TB3252A0 (1 PZ),
TB3469A0 (1 PZ), 4,2x12 TCB SELF-TAPPING SCREW (3 PZ),
VIBRATION DETERGENT PUMP (1 PZ), D6 PIPE HOLDER - D8 J.G.
TERMINAL (1 PZ), ONE WASHING SYS INLET DISTRIBUTOR (1 PZ), 6
MM BARBED NRV LINING FILTER (1 PZ), 6mm BARBED T-SHAPED
FITTING (1 PZ), VL1128A2 (2 PZ), BAM-BB6 STRAIGHT FITTING (1 PZ),
BB6-AR6 L FITTING (3 PZ), D1.2 MM CALIBRATED NOZZLE (1 PZ), 2
WAYS PLUS WASHING DISTRIBUTOR (1 PZ), 1/4 M N.O. CIL PRESSURE
SWITCH (1 PZ), LOCKING CLIP FOR PUMP WITH CIRCUIT (3 PZ),

707,00 $

KVL1220A 316L WASHING ROTOR KIT 316L WASHING ROTOR ARM (1 PZ), 281,00 $

KVL1225A US HOOD WASHING SYSTEM KIT

HOOD WATER CIRCUIT PLATE (1 PZ), CLIP LOCK TWEEZER FITTINGS
D10 (2 PZ), US SELF-CLEANING WATER SOLENOID (2 PZ), INT. D.=6.9
TH=1.8 O-RING (5 PZ), D=10 ELASTIC CLAMP (14 PZ), 200x2.6 BLACK
CLAMP (1 PZ), JG D=10 CLOSED CAP (2 PZ), D11.5-12.5 SINGLE EAR
HOSE CLAMP (4 PZ), D11.5-12.5 SINGLE EAR HOSE CLAMP (4 PZ),
EPDM 6X10 L=40MM PIPE (4 PZ), HOOD DETERGENT PIPE (2 PZ),
TB3252A0 (2 PZ), TB3614A0 (1 PZ), 4,2x12 TCB SELF-TAPPING
SCREW (3 PZ), 4.2x9.5 TCBS+STZ ZN-NI SELF-THREAD SCREW (2 PZ),
VIBRATION DETERGENT PUMP (1 PZ), D6 PIPE HOLDER - D8 J.G.
TERMINAL (1 PZ), ONE WASHING SYS INLET DISTRIBUTOR (1 PZ), 6
MM BARBED NRV LINING FILTER (1 PZ), 6mm BARBED T-SHAPED
FITTING (1 PZ), VL1128A2 (1 PZ), BAM-BB6 STRAIGHT FITTING (1 PZ),
BB6-AR6 L FITTING (2 PZ), D1.2 MM CALIBRATED NOZZLE (1 PZ), ONE
WASHING DISTRIBUTOR OUTLETS KIT (1 PZ), VL1214A1 (1 PZ),
TWIST LOCK D17.8-20.3 CLIP (2 PZ), LOCKING CLIP FOR PUMP WITH
CIRCUIT (3 PZ),

578,00 $

KVL1398B PRESSURE CONTROLLER N.O. 1/4 M CIL KIT
JG STRAIGHT CONNECTION Ø8F-Ø8F (1 PZ), CLIP TO FIX Ø8 mm
CONNECTION JOINT (2 PZ), PRESSURE CONTROLLER N.O. 1/4 M CIL
(1 PZ),

58,00 $

KVL1483A CHEFTOP-X T- CONNECTION WITH MAGNETS KIT

INT. D.=6.9 TH=1.8 O-RING (1 PZ), D11.5-12.5 SINGLE EAR HOSE
CLAMP (1 PZ), D11.5-12.5 SINGLE EAR HOSE CLAMP (2 PZ),
TB4131A0 (1 PZ), BB6-AR6 L FITTING (1 PZ), BAYONET FITTING
POLYMER CLIP (1 PZ), T- CONNECTION WITH MAGNETS (1 PZ),

41,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 5/6

https://www.unox.com/
mailto:info@unox.com


SUGGESTED PARTS LIST

Code Description Content Price

KVM1297A BIG-L TROLLEY GASKET PUSHER PLATE KIT
STAINLESS STEEL WASHER 4.5X9X0.8 (2 PZ), 4,2x12 TCB SELF-
TAPPING SCREW (2 PZ), 5x20 ST. STEEL CHIP SCREW (2 PZ),
VM2971A0 (1 PZ),

96,00 $

KVM1326A LOWER ROLLER + PIN KIT BIG DOOR LOWER ROLLER PIN (1 PZ), BIG DOOR LOWER ROLLER (1
PZ), 53,00 $

KVM1630A CAP FOR INTERNAL GLASS 10 PCS KIT INTERNAL GLASS PUSHING CAP (10 PZ), 44,00 $

KVM1631A CAP FOR INTERNAL GLASS 10 PCS KIT PLUS INNER GLASS PUSHING CAP (10 PZ), 44,00 $

KVM2377A MM 220 V VENTURI ACTUATOR SYSTEM KIT
HOSE CLAMP (3 PZ), Int. Ø=38 TH=4 DRAIN BLACK RUBBER PIPE (0
M), Int. Ø=38 TH=4 DRAIN BLACK RUBBER PIPE (0 M), 220 V 50/60 HZ
EUR VENTURI SET (1 PZ),

209,00 $

KVM2378A MM 240V VENTURI ACTUATOR SYSTEM KIT
HOSE CLAMP (3 PZ), Int. Ø=38 TH=4 DRAIN BLACK RUBBER PIPE (0
M), Int. Ø=38 TH=4 DRAIN BLACK RUBBER PIPE (0 M), 240V 50/60 HZ
UL USA VENTURI ASSEMB (1 PZ),

234,00 $

KVN1130A LUX ≤08.2017/L.MISS/S.5/5E MOTOR KIT

XEVL MOTOR SHAFT DISC (1 PZ), MOLDED MOTOR HOLDER GASKET
(1 PZ), STAINLESS STEEL WASHER 8.4x16x1 (1 PZ), M8 DIN 980M ST.
STEEL SELF LOCKING NUT (1 PZ), MOTOR NUT FASTENING BUSHING
(1 PZ), 330W 230V 50/60HZ MOTOR (1 PZ),

535,00 $

KVN1165A MM/S.5E ADV 230V COOLING FAN KIT SELF-DRILLING SCREW 4.8X13 TCB+ ZN (4 PZ), CT BT COOLING FAN
SUPPORT (1 PZ), 230Vac 50/60Hz COOLING DOWN FAN (1 PZ), 182,00 $

KVN1179A CONTROL BOARD COOLING FAN KIT CONTROL BOARD 40x40x20mm 12V COOLING FAN (1 PZ), 71,00 $

KVN1184A D195 H80 8 CONCAVE BLADES FAN KIT A4 316 M6X12 SCREW (1 PZ), A4 ST. STEEL FLAT WASHER FOR M6 (1
PZ), D195 H80 8 CONCAVE BLADES FAN (1 PZ), 359,00 $

KVT1341A BIG-L EXTERNAL GLASS KIT
XEVL BIG EXTERNAL GLASS SUPPORT PROFILE (2 PZ), LOCTITE
BICOMPONENT SILICON (300 ML), NOZZLE FOR WHITE SILICON GUN
(1 PZ), XEVL BIG S. EXTERNAL GLASS (1 PZ),

810,00 $

Unox S.p.A. Make a sustainable choice: do not print this document unless it is necessary.
For further info please visit www.unox.com or email info@unox.com.

08-18-2025
Pg. 6/6

https://www.unox.com/
mailto:info@unox.com

